
  

OCTOBER 2011 U/ID 14681/TCB 

Time : Three hours Maximum : 100 marks 

PART A — (5 × 8 = 40 marks) 

Answer any FIVE questions. 

All questions carry equal marks. 

1. Give the necessity of O.R. in industry. 

 öuõÈØ\õø»°À O.R. CßÔ¯ø©¯õu £[QøÚ¨ 

£ØÔ GÊxP. 

2. How O.R. can be used as a tool for decision 

making? 

 •iÄ Gk¨£uØS, O.R.&I G¨£i J¸ P¸Â¯õP 

£¯ß£kzxÁx? 

3. Construct the dual of the problem : 

 Maximize 321 32 xxxZ ++=  

 subject to the constraints : 
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 Cµmøh •øÓ°À Aø©UP : 

 «¨ö£›uõUSP : 321 32 xxxZ ++=  

 Pmk¨£õk : 

.0,,

452

634

321

321

321

≥
=++
=++

xxx

xxx

xxx  

4. Describe Vogel’s approximation method in solving 
Transportation problem. 

 Vogel’s approximation method&I öPõsk G¨£i 
Transportation problem&I wºÄ Põs£x? 

5. Solve the following Assignment problem : 

 I II III IV V 

A 6 5 8 11 16 

B 1 13 16 1 10 

C 16 11 8 8 8 

D 9 14 12 10 16 

E 10 13 11 8 16 

 RÌPõq® Assignment problem&I wºÄ PõsP : 

 I II III IV V 

A 6 5 8 11 16 

B 1 13 16 1 10 

C 16 11 8 8 8 

D 9 14 12 10 16 

E 10 13 11 8 16 
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6. There are five jobs, each of which is to be 

processed through the two machines A and B in 

the order AB. Processing time in hours are : 

Job : 1 2 3 4 5 

Machine A (Ai) : 5 1 9 3 10 

Machine B (Bi) : 2 6 7 8 4 

 Determine the optimum sequence for the five jobs 

and the minimum elapsed time. 

 I¢x ÷Áø»PÒ EÒÍ {ø»°À JÆöÁõßÖ® 

Cµsk C¯¢vµ® A, B ÁÈ¯õP ö\´•øÓ AB GßÓ 

Á›ø\¨£i ¤ßÁ¸® ÷|µ®£i {PÌQßÓÚ : 

÷Áø» : 1 2 3 4 5 

C¯¢vµ® A (Ai) : 5 1 9 3 10 

C¯¢vµ® B (Bi) : 2 6 7 8 4 

 I¢x ÷Áø»PÐUPõP EÒÍ optimum sequence-ø¯²® 

©ØÖ® SøÓ¢u AÍÄ CÇ¨¦ {µzøu²® PnUQkP. 

7. Solve the game whose pay-off matrix is given by  

                Player B 

Player A    

















3027

5465

4371

. 
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 RÌPõq® ÂøÍ¯õmøh wºÄ PõsP. ÂøÍ¯õmiß 

pay-off Ao ¤ßÁ¸©õÖ : 

                                             ÂøÍ¯õmk Ãµº B 

ÂøÍ¯õmk Ãµº A    

















3027

5465

4371

. 

8. Discuss Monte Carlo technique for simulation. 

 £õÁøÚ°À EÒÍ Monte Carlo ~qUP •øÓø¯¨ 

£ØÔ GÊxP. 

PART B — (3 × 20 = 60 marks) 

Answer any THREE questions. 

All questions carry equal marks. 

9. Use Simplex method to  

 Maximize 321 3xxxZ +−=  

 subject to the constraints : 
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 Simplex •øÓ°À wºUP : 

 «¨ö£›uõUSP : 321 3xxxZ +−=  

 Pmk¨£õk :  
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10. Use Dual simplex method to 

 Maximize 212 xxZ +=  

 subject to the constraints : 
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 Dual simplex •øÓ°À wºUP : 

 «¨ö£›uõUSP : 212 xxZ +=  

 Pmk¨£õk : 
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11. Solve the following Transportation problem : 

 A B C ai 

F1 10 9 8 8 

F2 10 7 10 7 

F3 11 9 7 9 

F4 12 14 10 4 

bj 10 10 8  

 RÌPõq® Transportation PnUQøÚ wºÄ PõsP : 

 A B C ai 

F1 10 9 8 8 

F2 10 7 10 7 

F3 11 9 7 9 

F4 12 14 10 4 

bj 10 10 8  

12. Solve the game whose payoff matrices are given 
below : 

 (a) 



















−
−−−

−

62435

62034

22123

35002

 

 (b) 



















12265

83442

76456

08139

. 
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 RÌPõq® ÂøÍ¯õmøh wºÄ PõsP. ÂøÍ¯õmiß 
payoff AoPÒ ¤ßÁ¸©õÖ : 

 (A) 



















−
−−−

−

62435

62034

22123

35002

 

 (B) 



















12265

83442

76456

08139

. 

13. Find the critical path for the following network : 

 
 RÌPõq® Áø»¯ø©¨¦ Áøµ£hzv¼¸¢x E´¯¨ 

£õøuø¯ Psk¤i : 

 
———————  


